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Answers to questions carrying 1 mark may be from one word to one

sentence.

Answers to questions carrying 3 marks may be from 50 — 75 words.
Answers to questions carrying 4 — 5 marks may be about 150 words.
Answers to questions carrying 6 marks may be about 200 words.

Attempt all parts of a question together.

femryy 9 et Oicd’ ¥ T 25 @ H T T8 B Gl | 39 IgA 99 * o
qFd S| dAT SR R HAM: 5,000 fRAM, 10,000 foRenfier qen
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Himanshu purchased a new car from ‘Galaxy Motors’ for ¥ 25 lakhs. He
was offered free insurance for the first year and three free servicing to be
availed after the car had covered 5,000 km, 10,000 km and 15,000 km
respectively. When Himanshu took the car for the first free servicing, he
was told that the car was not new and first service had already been
availed on this car. He felt cheated and filed a complaint in the State
Commission. Being not satisfied with the decision of the State

Commission, after two months he decided to file an appeal against it.

Can Himanshu appeal against the decision of the State Commission ?

Give reason in support of your answer.

2. ‘guar & A fohE YRR Teh hEAH] hl Uit TTEET o = ohl T hidl B ?
HHATRY | 1

How does ‘cost of equity’ affect the choice of capital structure of a

company ? Explain.

3. NG vHEdw I HiER Farshi # Attt 2 | sHe Yo wd unA i fa
garell o faeqd YR @@ HHI I I8 AR CAd g foh Iqdmme
&l Ty Ifad T Td 3Fa T W IUASY HS S Th |

U I % FH BN &4 g I HIAC Fp e Tl s wriee goh
1 IMIIIHATE HH BT AT AT | 1

‘Bharat Express’ specialises in Courier Services. Its ‘wide range of
express package and parcel services’ help business firms to make sure
that the goods are made available to the customers at the right place and

at the right time.

State with reason, whether the working capital requirements of

‘Bharat Express’ will be high or low.
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@R |
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‘Maruti Vega Ltd.” entered into the market with coloured television and
have now introduced products like audio systems, air-conditioners
washing machines, etc. The company is not only offering the products but

also handling complaints and offering after-sales services.

Identify the element of marketing-mix discussed here.

gaETC foh Yery guTS o faee@ A fre TR 98 BT 2 |

Explain, how management helps in the development of society.

‘Teurerm fafiee’, w92 9N arefl AT <1 3cdTeeh & | T8 ol 91&d Tsh fad |
500 IS G ITeAl TIMHT T IcUTET HEAT B | T B araaniyes fafsrsieor 2
ST HEETRET i HIAdT H ghg BT & | 36 YR oh HiSd @rd H YAl hl
R 8l gl |

ITYH A HTSH @fd o YehR ohl IgaTT |

‘Himalaya Ltd.’, is engaged in manufacturing of washing machines. The

target of the organisation is to manufacture 500 washing machines a day.
There is an occupational specialisation in the organisation which
promotes efficiency of employees. There is no duplication of efforts in
such type of organisation structure.

Identify the type of organisation structure described above.

S & T TR & §9 § SRIEHA’ 1 319 ARy |
Give the meaning of ‘Programme’ as a type of plan.
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8. ‘=¥ @ ity hifST | 1

Define ‘co-ordination’.

9. ‘IHUmie Tred i fohgl v fomareti o1 3g@ shifve | 3
State any three features of ‘Informal Organisation’.

10. S 9 Avft-anft T Juqw feFTd *W Gt w fad fafiee’, #®
Teg Gk o ®9 H YGHR HHTAT & | 38 <@l fob Heqfl ol oa-g= § §igd
T e By feaem & | 9 Fafie w1 @ swenh geme 29 9 | 37 gemat
1 BT g0 g I <hl STl oft 3R T B 3k fu g WicEre fean S
o1 | 38 SGd ] A FO THg HRM TEATETE H Hanstl H el Ao
foRaT B3TT o 1R 378 Ieh! HAT3Tl o Sacl 3= WINHTHeh 1 Y foham ST
I | 39 HRU HHAR galcaTsd TIHT L | o 3R IaH ITAN GId ¢ oig
Hfew o |
(1) W afvia 6t T FEIEOT FIYT B IFA |
(F) 3g@ HIC o 3w Twswor aran 1 fopg #oft § afieRa fopam S wehan

g

(@) 3@ yoft Y foreft 1= TEIwoT STen St THETST | 3

Jaideep recently joined as the Managing Director of ‘Tivori Ltd.’, an
apparel designing company. He observed that the company had a number
of experienced fashion designers on its payroll. They regularly offered
useful suggestions which were neither appreciated nor rewarded by the
company. Instead the company outsourced its services to some renowned
fashion designers and paid them a good compensation for their services.
Because of this the employees felt disheartened and stopped giving useful

suggestions.
(a)  Identify the communication barrier discussed above.
(b)  State the category of this communication barrier.

(c) Explain any other communication barrier of the same category.
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IR THR A & A A § 954 8 A+ HE 909d L @8 | ™
forgl I s/t sl gH=TsT |

‘The Stock Exchange performs many vital functions in today’s commercial
world.” Explain any three such functions.

‘Tug. fafes’ th 9t St @ MR Sl 1 TASH ik WR-HEINME H
3TeT il 2 | B & H Ol 3 9ud’ v i’ Stegas TR R SR W8
freepy fepret foh Sed &9 & T AWgL % fod § 38 TH-HERME % I
AT L TehdT & | BT Bl AT Teh fod H TR-HSIHE sl 1,000 SHISAT
% JSll o1 HAISH T 8 | O] 91 3TMad ol ol T Aqufefaarg ol &H H
% [T 3TeRNeh W SGH hidl 8 | HH A9GL 98d GX 7 | AAfe TR ot T T
T had 800 IS TI-HEIIFH & Yl 1 &l GANH &l @I 7 | RO Iadl
o [T POl o T%h gL o Aok Sq1GA shi ol <l 3 €884l %
W § oWl foh o wolgl T | 4 9 |

(31) 39 =fed Y4 o R I TG |
(8) vgaH fopu T R S WlRAT %k I TN H Ig@ hifo ekl ==l
3T 3TFTH] H HI TE 2 |

‘A.S. Ltd.” is a large company engaged in assembly of air-conditioners.
Recently the company had conducted the ‘Time’ and ‘Motion’ study and
concluded that on an average a worker can assemble ten air-conditioners
in a day. The target volume of the company in a day is assembling of
1,000 units of air-conditioners. The company is providing attractive
allowances to reduce labour turnover and absenteeism. All the workers
are happy. Even then the assembly of air-conditioners per day is
800 units only. To find out the reason the company compared actual
performance of each worker and observed through C.C.T.V. that some of
the workers were busy in gossiping.

(a) Identify the function of management discussed above.

(b)  State those steps in the process of the function identified which are
discussed in the above paragraph.



13. faawor mreamt &% =9 R ‘wrg-mracad sres e geRr gwifaa e @ 2
HHHATSU | 3

How do the ‘Company-related factors’ affect the choice of channels of
distribution ? Explain.

14. UH ol o) forgatl 1 3g@ HINT 1 yorg & gl o " T THm
eAd B | 4

State any four points which highlight the importance of principles of
management.

15. I % IR & qAT IUMIHEST 6 TR § IUAIAE WU h HEA b
fohegl Ql-al fogaTl oh! THETST | 4

Explain any two points of importance of ‘consumer protection’ from the
point of view of business and any two points from the point of view of
consumers.

16. ‘v = fafee’, s foue o ==si-arg aret SrHT 8 St 9RA o9
foru fesst =1 fmior et 8 | I8 319 39 feaall 1 g@t <uml sl ffa AT =medt
2 3 I8 IH=-qhlsh aret AT H Fow e 1 foam =t @& 2 | few 6
AT T B o HRU HFIHT I eehiiores foad i ATawaehdl 8 | HEAT 3
frofe foran o5 o7 auar w9 = fom wha el | awar o & 9
H T 9ga Mfaes Frima anma (weieem i) ffga 2 | i arma (wiresm
HE2) o @El Bl QU B b AT HEHH T GEI-AER & Tohai i 35 H A
o1 Tuter foram |
(31) IuYH 3L oh [T IO YIS o S Tor@ 1 T L T9hdl &,

3G AT d1d g 38 HHATST |
(F) 39 YOG o 1 W T fopadt srafy & o fom ume ot wendt 2 2
(|) 39 Yorg 1 3R fora 329 & foru 3w feman S wehar B 2 4
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‘Mission Coach Ltd.” is a large and creditworthy company manufacturing
coaches for Indian Railways. It now wants to export these coaches to
other countries and decides to invest in new hi-tech machines. Since the
investment is large, it requires long-term finance. It decides to raise
funds by issuing equity shares. The issue of equity shares involves huge
floatation cost. To meet the expenses of floatation cost, the company
decides to tap the money market.

(a) Name and explain the money-market instrument the company can
use for the above purpose.

(b)  What is the duration for which the company can get funds through
this instrument ?

(c) State any other purpose for which this instrument can be used.

IO TR, AT Uers Y U o IWd Sl 4 BRI AW Al Th qgu
HIHT T AR YT | BT AT HUSTET h HATD ddd Td Wl ol
WIAH X @I oAl | Togl, HEHT hl A &9 o STIER off S HHETEl
T 3fed Se-ER TEH L @ ol | HEO 1 T H HT qLiehl Sgd TS A
HI AP AU HefIEA o WY g =D SHaeR Hd I | S+ 39 & |
Fgad G off, e A9 %1 = h BRI IHeh IE T GHT I o ¢ THI
Tal o7 | 3° 91Eh @H W R g1 vsar o, fSas 39eht ke forreg @ o |

394 I8 <@ Toh 39 FHET T GIHAT T had IHeh! HEAHT H 3Gk TghHT R |
3 oAfug *3 o St # off I8 99en § | 3HRT SO B HE dTelt
AT h T | ghg TA B % Teh gL WEIR @H hl Iqdaredar off |
I TH TH 92 TR I HE TEAMT 3N I ARl BIgwt AR I aral
% 7T =R 1 9or1 Uehe @HT 3T JoI T 39@sY LA I Hoi fomn | a7 o6
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(@) & Rl @ geai wl ggaTe e 3T IETe0 gRI HEHT | |HIS
eI foram 2 |



Beni, after completing her MBA, took up a job with a multinational
company named ‘Fortio’. The company was paying good salary and perks
to its employees. The wages were within the paying capacity of the
company that provided the employees a reasonable standard of living.
The company also had a good work-culture and the behaviour of
superiors was very good towards their subordinates. Beni was very happy
in this organisation, but due to long working hours she did not have time
to cook her meal. She had to depend upon outside food, which was
deteriorating her health.

She observed that this problem was faced by many of her colleagues, not
only in her company but also in many other companies. This was because
of increase in the number of working women and non-availability of
hygienic home-cooked food. She identified this as a great opportunity and
decided to give up her job to supply packaged home-cooked food to office
goers at a reasonable price. At the end of the day she was also
distributing the left-over food in the nearby night-shelters.

(a) State the dimension of business environment being discussed
above.

(b)  State the principle of management being followed by ‘Fortio’.

(c) Identify any two values being communicated by the company to the
society in the above case.

18. Wi fafide’ & =l S¢ g8 6T Wl U FH o [T HEO gRI ST
T T hrgelichd Al O M W % A TE | sEiAT heEr whaereh §
rfafich ATTee 1 T o ) § 3R FHETiEl % TR-IR Jo & R0 e
T T M IR 7 |

gaa e foh Tidees fohd TR U= & HIA d T Dl FIGhl 38
A= &Y T ¥ G & I ST HehdT 2 |

UG fopegl i ol o1 ot 3g@ HIfST S HH=iE S gaees & Ui g e
B | 4
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The workers of ‘Gargya Ltd.” are unable to work on new computerised
machines imported by the company to fulfil the increased demand.
Therefore, the workers are seeking extra guidance from the supervisor

and the supervisor is overburdened with the frequent calls of workers.

Suggest how the supervisor, by increasing the skills and knowledge of

workers, can make them handle their work independently.

Also state any three benefits that the workers will derive by the decision

of the supervisor.

IR T A qF HEATET o Y WRA T SR W [T g1l 1 FAeH
T HIRICH I I H o foTw I fafies’ 9w @ e et oy i |
T TRFER Nt § O] 4 9ga oTes1 S fohan | =ffeh I TR AT 3N
35T fouue +ft s TR T B W1 o1, SEfAT HIT 9 TS | ScUTed i 9@ %
o et o0t Srfafes spd=niEt it vl et ut | it En, S uge 9 fak
I o @A, B S el ATTHRT T T KT U1 | 38 Ig foavam en
fop a1aa faofet =6t wyTael & @ @R A % fow T gt ®9 @ waw, wud @
g O 7 3R T ORI Sl SWEu & ¥ AN i 1 S 3o
Hohd 8 | 3Tk 3= UMy et ot hrat 9 shael A9T 3cuTed S ° gAY
@ ofuyg fafie fomivarstis o @y so4 19t 3carg JEen § off fowar #=
form |

(37) 33U FIURON I YgATHE, ST TN Hieh TS T AU A i
Frftres SISl 9 of ST § G & T |

(§) 39 STTYRUN % H& o fohral qH (oGl i ¥t AT |

10



Neeraj Gupta started a company ‘YoYo Ltd.” with ten employees, to
assemble economical computers for the Indian rural market. The
company did very well in its initial years. As the product was good and
marketed well, the demand went up. To increase production the company
decided to recruit additional employees. Neeraj Gupta, who was earlier
taking all decisions for the company, had to selectively disperse the
authority. He believed that people are competent, capable and
resourceful and can assume responsibility for effective implementation of
their decisions. This paid off and the company was not only able to
increase its production but also expanded its product range with different
features.

(a)  Identify the concept used by Neeraj Gupta through which he was

able to steer his company to greater heights.

(b)  Also explain any three points of importance of this concept.

20. TS % TUWNT B’ 1 371 FAT3T | 35k fohral TR ATHI 1 IgE hIfY | 5

Give the meaning of ‘divisional structure’ of organising. State its any four
advantages.

21. o gH 991 @ FA9ell T Tewurgas § w1 & @ ] | 98 & Uid 31
udn % fau g ¥ | @ 3E@ afts yerus dartgd gem, af s @t
TIfeRn 3 g | fop oitel it 319 ugEfa g St | 9 39 @iell 9g hl Th
el ATk FAEW ;R R W T T @ |t TRy g | 6k BN’
ISt <1 IcHTE W & T IR 3WehT Fvured fAn 3& & M | 97 SAfeehat
Iufed TGt off 3R o7 et bt uTe & 0 & ot |

PAN TR Th =T Jal ot St 3o AT &l 7 hadd AW ol of,
UG I8 ARG Td MHUTE off et oft | 389 ATell & TIgR i A A
T ofit wegy foran fop 3ueh fvuTea § g fohan S aehat 8 | 364 oiSelt &1
e o Fuig-areef} fawat & snfrer s ary o foan o 38 1 3= -waly
TIH Ye-g FiHfd 1 T o9 G | T SASell hRiad H 99 9 ST off
3R 3ok Fsared § off gUR g1 IRY | R |

(31) Wi gro fsarfea gerer o S Y ggEE AT |

(§) WY % I9YH B % I qed Bl AW FA3Y TEh! HERAT § HHT
3Tt o FIER § FUN HL Thl |

(@) 3T (F) H g T I i Tl dF fomivareti 1 3g@ i | 5
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Anjali had been working with ‘Tata Enterprises’ for the last ten years.
She was famous for her dedication towards the work. When the Manager
senior to her retired, all her colleagues thought that now Anjali would be
promoted. But to everyone’s surprise the vacant post was filled by an
outsider ‘Miss Monika’. Anjali felt demoralised and her performance
started declining. She would absent herself often and could not meet her
targets.

Miss Monika was a good leader who would not only instruct her
subordinates, but also guide and inspire them. She noticed Anjali’s
behaviour and felt that her performance could be improved. She started
involving Anjali in decision-making issues related to the organisation and
made her a part of a high-level joint management committee. Anjali was

now punctual to office and her performance started improving.
(a)  Identify the function of management being performed by Monika.

(b) Name the element of the above function of management which

helped Monika to improve Anjali’s behaviour.

(c) State any three features of the element identified in (b) above.

Hifgd T I Tl afdes fafees’ & @i 2 | 98 s % o
Tt g i vl oft e 3 | FEET sreu-Aifen W fafve st @ fogt
Tg Al H FREIT FATE YSH Lt g | Sl bl Wal TR UR W hT S
2 | 39 HIO g Uty HUT T ME U MR T THAET o foqw S
SITd g | Hifgd THT 319 i | ST At i TR fee™ & g 9feg 2 |
(31) et Toeifcdt afdes fafids’ g S Wl < &id 1 919 Faqrs |
@) i v Rl T 2w TgE R

(|) UgaTHT foh ARl o TE9Ihdl hH o TTAR HFIHT gRT GL&T TSl i
foper STrargerehan <ht gfd &1 & 7 |

(3) SUIh VA STEEAT g THIS ol FRITNA fohrgl G el ol Igamy |

12



23.

24.

66/3

Mohit Gupta is working with ‘Yellow Security Services Ltd.” He is also

recruiting security guards for the company. The company provide

security services in Delhi and Noida at short notice to various companies.

The guards are recruited on temporary basis. The guards provided by

this company are known for their honesty and punctuality. Mohit Gupta

is well known in his village for providing employment to unskilled people.

(a) Name the source of recruitment used by ‘Yellow Security Services
Ltd.

(b)  State any one disadvantage of this source of recruitment.

(c) Identify the need of ‘Security Guards’ which is being fulfilled by
the company as per Maslow’s need hierarchy.

(d) Identify any two values communicated to the society in the above
stated case.

JeY o I TARgd Tagr=dl skl GHHATST :
() =l fdl % fou safema fdl s g |
(F) eIk Ak o1 IGeh! ATUHTYH AT TF TYlg & g foepmd |

Explain the following principles of management :

(a) Subordination of Individual Interest to General Interest.

(b)  Development of Each and Every Person to His or Her Greatest
Efficiency.

TfereRT et XII H sa1a9Tiies A3 hl Ueh foemeff off | 39k fuarsh s fram
g St =raet 1 fafie e Imrd o e =rew 3Ieate & fafys uanl A qof ®v @
fqur 9 | 98 WHR g FEd il Well W TH ARSI & fw oft g4
T | SAGETRH AT & Teh URASHI-HE o €9 H 304 I T[uE et
TEdl 1 3fHd qod W fauE el aresar |oAeRE B w1
o= | 39e fUarsht 9 38 a7 gome fean T umeshi & fo=mi iR wdl &1 Thba
L % fOT 98 5 1 3TAR K | 364 9 Tk Yo fobu g Sifass =madt
ogad 3Afaeh A off | 3 var o fop =Ea i feufd # @i qa-fuifa faftrear
T&l Bidl, TSTgs RO 3T T THEYAT ITH AT Hidd Bidl 8 | 394 IE ol
gicREl & fF & % T 38 30 ARl AT aaa sl AW fean 31k
3 TR TUET Wk MR W — IYeR, FaAldeh a1 giid Ame o fofvs=
forent © aife foan | e I8 "egm fohen fob 3 am 38 Icumg-faudientor & wgmran
w4l |

3T TTTeE o ded § faquH o 9 T Sl FHET |
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Radhika was a student of Business Studies of Class XII. Her father was a
farmer who grew different varities of rice and was well-versed about
various aspects of rice cultivation. He was also selected by the
government for a pilot-project on rice cultivation. As a project-work in
Business Studies she decided to study the feasibility of marketing good
quality rice at a reasonable price. Her father suggested her to use
internet to gather customers’ views and opinions. She found that there
was a huge demand for packaged organic rice. She knew that there were
no pre-determined specifications in case of rice because of which it would
be difficult to achieve uniformity in the output. To differentiate the
product from its competitors, she gave it the name of ‘Malabari Organic
Rice’ and classified it into three different varieties namely — Popular,
Classic and Supreme, based on the quality. She felt that these names

would help her in product differentiation.

Explain the three functions of marketing, with reference to the above

paragraph.

‘afimes fafiee’ gt wust #1 3cateT = @ 2 | fUset Sl ol & 98 AR
I=s o AR W @ R | 37 9 off a9 vate oy e e H dwa @R
HHT o UTE YHTH Uehs 3T Wiasy # foeh™ o 3= 798 IYaied & | I8 Th
Ier-wifd Jaf-ad &ed g ol Tued, USHR o §HF &t a1 37!
aTisfies agfadt o favame Tad @ | 39 9gd § IIURE @ S 10 W W
et 3T STH S sl TefEeRal <d | |

HET T TS HTLE.H.3TE. §% ¥ T 50 ARG hT T {8 3T T gHEid
& AR AT T F& Ul & 37 7 |

HIHT % IR H ITYTR Il 37 i weeni i TR Tehd Ll & 51 I8 O
od 2 Top ol gro ol o feRaar s gfaenfa ferem Ste iR fepan faafa
fopar Sw |

IRk qiterEl | Ufthal 3gYd hd §U foheal IR H&ehi Sl YT T HHEATST |

14

6



66/3

‘Abhishek Ltd.” is manufacturing cotton clothes. It has been consistently
earning good profits for many years. This year too, it has been able to
generate enough profits. There is availability of enough cash in the
company and good prospects for growth in future. It is a well managed
oranisation and believes in quality, equal employment opportunities and
good remuneration practices. It has many shareholders who prefer to

receive a regular income from their investments.

It has taken a loan of ¥ 50 lakhs from I.C.I.C.I. Bank and is bound by
certain restrictions on the payment of dividend according to the terms of

the loan agreement.

The above discussion about the company leads to various factors which
decide how much of the profits should be retained and how much has to

be distributed by the company.

Quoting the lines from the above discussion, identify and explain any

four such factors.
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